* £y L
20 {0 rh‘:‘,"

|i| genrd exXd Pvie
i

1 Rectangular tiles have width x cm and height (x + 7) cm.

X

Diagram NOT
xX+7 accurately drawn

Some of these tiles are used to form a shape.
The shape is 6 tiles wide and 4 tiles high.

width

Diagram NOT
accurately drawn

height

a Write down expressions, in terms of x, for the width and height of

this shape.
WIATN = e cm
height = cm
(2)

b The width and the height of this shape are equal.

i Write down an equation in x.

ii Solve your equation to find the value of x.

(Total 6 marks)




2 y=4x—1 5 Simplify fully
a 2(3x+4)-3(4x - 5)

Work out the value of x wheny = —7
XD o e s
(2)
(Total 2 marks)
b (2xy3)°
2
3 Simplify fully 2X”—5x-12
Ax2 O
.......................... (2)
n-1_ 2
(Total 3 marks) c X
n+l n-2
4
Diagram NOT
accurately drawn 3)
3(x—3) 2x+ 5
40 (Total 7 marks)
-1 6 a Solve — X =44
The lengths, in cm, of the sides of the triangle are 3(x — 3), 4x — 1 and 2x + 5
a Write down, in terms of x, an expression for the perimeter of the triangle. X = oo
om 3)
2 —_—
(1) b Simplify fully 2~ =6X
4x° -9
The perimeter of the triangle is 49 cm.
b Workoutthevalue of x.
3)
X = tvevreeeneeens
(Total 6 marks)
(2)

(Total 3 marks)




X = v,

(Total 4 marks)

8 Solve 2 + 3 5

x+1 x-1 x2_1

X = v,

(Total 4 marks)

9 Simplify fully — 2 4+ X~11

x-1 x*+3x-4

(Total 6 marks)




